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. Please enter the subject code / paper-code 05/A in the Contents box on the title page of your

answer sheet.

Make sure that the answer book contains 26 pages (including title page) are properly serialed,
as soon as you receive it.

Questions attempted after leaving blank pages in the answer-book would not be evaluated.

All Parts are compulsory.

Question paper will comprise of 4 parts (A,B,C and D).

Each question of Part-A carries 1 marks, Part-B carries 2 marks, Part-C carries 3 marks and
Part-D carries 5 marks.



. Out of question number 17, 18 and 19 of Part - D, attempt one question, each total 3
questions are to be attempted.

. Answers should be brief and to the point. Also draw a labeled diagram where required.

. Diagram / Figures in the question paper need not be redrawn in the answer sheet. Just give
the required answer.

Part - A (Mark: 30)
1. Choose the write options in the following questions

I.  Which of the statements about the reaction below are incorrect?
2PbO(s) + C(s) — 2Pb(s) + CO2(g)
(@) Lead is getting reduced.
(b) Carbon dioxide is getting oxidised.
(c) Carbon is getting oxidised.
(d) Lead oxide is getting reduced.
(i) (a) and (b)
(i) (@) and (c)
(iii) (@), (b) and (c)
(iv) all

I. Fe,O3+ 2Al - Al,O3 + 2Fe
The above reaction is an example of a
(a) Combination reaction.

b) Double displacement reaction.
(c) Decomposition reaction.
(d) Displacement reaction.

I11.What happens when dilute hydrochloric acid is added to iron fillings? Tick the correct answer.
(a) Hydrogen gas and iron chloride are produced.
(b) Chlorine gas and iron hydroxide are produced.
(c) No reaction takes place.

(d) Iron salt and water are produced.

IV. A solution turns red litmus blue, its pH is likely to be



@1 (M4 ()5 (d)10

V. A solution reacts with crushed egg-shells to give a gas that turns lime-water milky.The solution

contains
(a) NaCl (b) HCI (c) LiCl (d) KCI
V1. Which one of the following types of medicines is used for treating indigestion?
(a) Antibiotic (b) Analgesic
(c) Antacid (d) Antiseptic
VII.  Which of the following pairs will give displacement reactions?
(a) NaCl solution and Copper metal

(b) MgCl, solution and Aluminium metal

(c) FeSQ, solution and Silver metal
(d) AgNOg solution and Copper metal.
VIII. Food cans are coated with tin and not with Zinc because
(a) Zinc is costlier than tin.
(b) Zinc has a higher melting point than tin.
(c) Zinc is more reactive than tin.
(d) Zinc is less reactive than tin.
IX. Ethane, with the molecular formula C,Hg has:-
(a) 6 covalent bonds.
(b) 7 covalent bonds.
(c) 8 covalent bonds.
(d) 9 covalent bonds.
X. Butanone is a four-carbon compound with the functional group
(a) Carboxylic acid.
(b) Aldehyde.
(c) Ketone.

(d) Alcohol.



XI.Which of the following statements is not a correct statement about the trends when going from

left to right across the periods of periodic Table.
(@) The elements become less metallic in nature.
(b) The number of valence electrons increases.
(c) The atoms lose their electrons more easily.

(d) The oxides become more acidic.

XIl.  Element X forms a chloride with the formula XCI, , which is a solid with a high melting

point. X would most likely be in the same group of the Periodic Table as

(@) Na (b) Mg (c) Al (d) Si
XII1. The kidneys in human beings are a part of the system for
(a) Nutrition. (b) Respiration. (c) Excretion. (d) Transportation.

XIV. The autotrophic mode of nutrition requires

(a) Carbon dioxide and Water. (b) Chlorophyll. (c) Sunlight.
above.

(d) All of the

XV.  Which of the following is not a part of the female reproductive system in human beings?

(a) Ovary
(b) Uterus
(c) Vas deferens
(d) Fallopian tube
XVI. The anther contains
(a) Sepals. (b) Ovules.
(c) Pistil. (d) Pollen grains.
XVII. An example of homologous organs is
(@) Our arm and a dog’s fore-leg.
(b) our teeth and an elephant’s tusks.
(c) potato and runners of grass.

(d) all of the above.



XVIII. In evolutionary terms, we have more in common with
(a) a Chinese school-boy.
(b) a Chimpanzee.
(c) a Spider.
(d) a Bacterium.

XIX. Where an object should be placed in front of a convex lens to get a real image of the size of
the object?

(a) At the principal focus of the lens

(b) At twice the focal length

(c) At infinity

(d) Between the optical centre of the lens and its principal focus.

XX. No matter how far you stand from a mirror, your image appears erect. The mirror is likely
to be

(@) only plane.

(b) only concave.

(c) only convex.

(d) either plane or convex.

XXI.  Which of the following lenses would you prefer to use while reading small letters found in a

dictionary?
(a) A convex lens of focal length 50 cm.
(b) A concave lens of focal length 50 cm.
(c) A convex lens of focal length 5 cm.
(d) A concave lens of focal length 5 cm.
XXI1. The human eye forms the image of an object at its
(a) cornea. (b) iris. (c) pupil. (d) retina.
XXII1. The change in focal length of an eye lens is caused by the action of the
(@) pupil. (b) retina.

(c) ciliary muscles.  (d) iris.



XXIV. Which of the following terms does not represent electrical power in a circuit?
(@) IR (b) IR? () VI (d) V3R

XXV. An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the power

consumed will be —
(a) 100W (b)) 75 W (c)50W  (d)25W
XXVI. The phenomenon of electromagnetic induction is
(a) the process of charging a body.
(b) the process of generating magnetic field due to a current passing through a coil.
(c) producing induced current in a coil due to relative motion between a magnet and the coil.
(d) the process of rotating a coil of an electric motor.
XXVII.  The essential difference between an AC generator and a DC generator is that
(a) AC generator has an electromagnet while a DC generator has permanent magnet.
(b) DC generator will generate a higher voltage.
(c) AC generator will generate a higher voltage.
(d) AC generator has slip rings while the DC generator has a commutator.
XXVIII. At the time of short circuit, the current in the circuit
(a) reduces substantially.
(b) does not change.
(c) increases heavily.
(d) vary continuously.
XXIX. Which of the following constitute a food-chain?
(a) Grass, wheat and mango
(b) Grass, goat and human
(c) Goat, cow and elephant
(d) Grass, fish and goat
XXX. Which of the following are environment-friendly practices?

(a) Carrying cloth-bags to put purchases in while shopping



8.

9.

(b) Switching off unnecessary lights and fans
(c) Walking to school instead of getting your mother to drop you on her scooter
(d) All of the above

PART B (Marks: 20)

A solution of a substance ‘X’ is used for whitewashing

(i) Name the substance ‘X’ and write its formula

(i1) Write the reaction of substance ‘X’ with water

Plaster of Paris should be stored in a moister-proof container.Explain why ?

What are the two properties of carbon which lead to the huge number of carbon compounds we see

around us ?
What were the limitations of Newland’s law of Octaves ?

Label 1 and 2 shown in diagram

Explain the terms analogous and homologous organs with examples ?
The radius of curvature of a spherical mirror is 20 cm. What is its focal length ?

Why does the sun appear reddish early in the morning ?

10. List the properties of magnetic lines of force ?

11. What is the role of decomposers in the ecosystem ?

PART C (Marks: 15)

12. Why does the colour of copper sulphate solution change when an iron nail is dipped in it?

13. What is the role of acid in our stomach?

14. Differentiate between aerobic and anaerobic respiration.



15. Flemming Left hand rule, Label the Diagram.

: 2
@aig )3
B~
)

16. Why is the damage to the ozone layer a cause for concern? What steps are being taken to limit this

damage?
PART D (Marks: 15)
17. What is ohm’s law? How can it be verified? 2+3=5)
Or
What is the (1) Maximum (2) Minimum resistance that can be secured by combination of four
coils of resistances 4, 8 2, 12Q and 24Q? 5)
18. (a) Write three differences between sexual and asexual reproduction 3)
(b) What are contraceptive methods? Explain any two )
Or

Draw a labeled diagram of vertical section of a flower and explain its various parts 2+3=5)

19. Differentiate between metals and non-metals on the basis of their physical and chemical

properties. )
Or

(a) How will you prevent the rusting of iron? Suggest two ways 3)

(b) Name a non-metal, which is:- 2)

1) A conductor of electricity

2) Lustrous



